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thS 13 gABCD & H3JAHA o]zt A

& o), 2ALzHeo] 7] 18 2AL by N

AL ﬁ

O AB = 8cm, CD = 8cm

@ (A=/0=80°

® BO =DO = 4cm

@ AO = 5c¢m, BO = 5cm, CO = 5¢cm, DO = 5em

® /A+/B=180°



3. u}%ﬁz%mi@o] AD//BC ¢l Ath2]E ABCD ©of|4 AABO = 20cm?
,2DO = BO ¥ |, ADBC 9] go]=?

@ 40cm? @ 50cm? ® 60cm?

@ 70cm? ® 80cm?



® AC=BD @ AB = AD

® /BCD = /CDA @ /ABD = /DBC

® ACLBD



5. o 273 Zol AD//BCY SHAGElE ABCD 7 3lth. AD =
3, BE =5, /BAE =35°¥ ¢, /DCB = x°, @:yolrz}. x+y9
e Fotoler.
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o5 199 FPAHAE ABCD of A
AD = 2ABo|t}. CDE %5ty
CE=CD =DF7 =& ¥ E, F
E A1 AECIBF O @& Pt T o,
(BPH 2] 217|& 5}oiet.,
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02 18 BP:CP=CQ:AQ=1:3
olty, AAPQ = 24cm?® ¥ Wf, AABC 9] 4
o|& oozt

a = cm?

Q

o



9. g 183} Zo] AB//CDo]1 ADCE = 30cm?, ADBC = 15¢m?
o of, oACED ¢ Ho|=?

A
D

O 25cm? @ 30cm? ® 35cm?

@ 40cm? ® 45cm?



10.

kS "9 AttkE]E ABCD 9|4 AD :
BC =3:4, AAOD = 54cm? & o], ABOC
o] Yolg Faloial.

a = cm?

A

Q




11.

AD = 80cm ¢! H3PARH

d ABCD oA H P = 3cm/s & £ =2
254 A 4 254

—ﬂ}\DDE%;—(‘]O]i,@Q%’ch/SP’]é‘\_EE;‘—}
A C oA HAHE B 2 FZ At A P 7t &2 o]7] A#etal 4 =
T d Q7 =AUt A P 7 2204 ¥ %= 39 nAQCP 7}
HyPArg o] HAE=7R

A P D
B Q C

D6x% Q1% ®8x%
@9z ORIE-2



12.

©2% 733} 2] Wol7} 60 cm? <)
% e AP ABCD o)A = cfzh4 o)
29 0% AvH %43 AB, CD ¢}
o) WAL 22t p, et & of, A
=]

n1o) Yolo] §& Tatoiet.

e cm

B




13. o-& I#oA DAPCDE ufEHo|th, AB = BCY 1o, /BAD 9
A71& otz

A

O 84° @ 89° ® 91° @ 93° ® 95°



14. o 29elA BDE AAZY ABCD O] A

E

tfZtdelt}. LABD, /BDC 9] o]5E410]
AD, BCe¢ b= A& 47 E, Fet & o,
DE = 8cm ¥ W, oEBFD ] E2&?

O

© 30cm @ 32em @ 34em

@ 36cm ® 38cm
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16. g 134 BM = MC, EM1BC, AD1BC°]t}. AABC 9] Ho|7}
60cm? 4 o, DAEDC 9] Ho]&?

A
1D
@ 20cm? @ 25cm? ® 30cm?

@ 35cm? ® 40cm?



17. oS a4 AE//BD, aABCE = 40cm?, AODE = 10cm?2, BD
7} DABCD 2] ¥o]E o]58a uj, AOBD ] {o]& Fsloizt. (d,
ol = A kst

A




18. o33 Zo] Yol7t 36 <1 42+ ABC 94 BD = 2DC, ED = 3AE
o|1, A B8 BE o &AL} ¥ AC 9] W HS F g & o, BE = 5EF
< o, AABE + oCDEF 9] Z-& &t}
A

F
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20. thg 293 Zo] A ABCD A HAH C7F Aol HAES
At /D’AF =22°¢ wf, /FEA ©] 7|2 gure 729

. N
22

D 22° @ 34° 3 32° @ 44° ® 56°



21. S AAZE ABCD oA BE, DF & 2+ Z/ABD, /BDC ¢ o] 52
Adolth. BE = BF € W], 429 EBD = o® A7

A E D




22. oS 194 gABCD = Ao, /PAQ = 45°, /ZAPQ = 60°
d o, LAQD 9] 2717

A D
45°
Q
60°
B P C

@® 45° @ 55° ® 65° @ 75° ® 85°



23. o3 %3 Zo] AD //BCSl SHAI2E ABCD o4 AB = AD,
/ADB = 35° ¥ o, /x 9] 2715 Fs}oiat,

A D




24. o3 I"T Zo] THAITHEE ABCD oA AD ¢] A E°f thsto
AE:ED =2:1°]2 BC 919 H F o thoteo] BF : FC =5 : 3
oltf, & A G, H: 7Z+7+ AF, EF ¢ izt BD ¢ m o],
BD =9, 2AD = BC € o, GH 9] Zo]=?
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Oy @3 O3 ©®53 O



@ AAFD = ACHB

® EG + HF

® BH//FD

@ AAEB = ACGD

@ /HEF = /EFG
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